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Seat No.: ________                                                       Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – SUMMER • 2014 

Subject Code: 330501 Date: 13-06-2014        

Subject Name: Fluid Flow Operation 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

 

Q.1 (a) Define: (i)Fluid (ii) Kinematic viscosity (iii) pressure (iv) Compressible fluid    08 

 (b) Explain U-tube manometer  and derive the equation to calculate the pressure 

difference through it. 

06 

    
Q.2 (a) Explain Reynolds experiment and Reynolds number. 07 

 (b) Give classification of fluid. 07 

  OR  

 (b) Derive equation for position of inter-phase for gravity decanter. 07 

    
Q.3 (a) Derive Bernoulli equation with assumptions. 07 

 (b) Explain friction losses due to sudden expansion with figure. 07 

  OR  

Q.3 (a) Explain various correction factors required in Bernoulli equation. 07 

 (b) Explain globe valve with neat figure. 07 

    
Q.4 (a) Give the principle, working and construction of venturimeter. 07 

 (b) Describe centrifugal pump with neat figure. 07 

  OR  

Q. 4 (a) Derive an equation of volumetric flow rate for orificemeter. 07 

 (b) Writr short note on different types of pipe fittings with neat sketch. 07 

    
Q.5 (a) Write a short note on pneumatic conveying. 07 

 (b) A liquid of 1.2 specific gravity is transported through a pipe of 75mm I.D. at a 

velocity of 140 cm/s. Calculate the reynold’s number. 

07 

  OR  

Q.5 (a) What is fluidization? Give industrial application of fluidization. 07 

 (b) A differential U tube manometer is filled with CCl4  and water, sp. Gravity1.6 

and 1 respectively. If the liquid above water is kerosene, sp. Gravity0.8 and 

manometer reads 3 inches, find the pressure drop in inches of water column. 

07 
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ગજુરાતી 
પ્રશ્ન. ૧ અ વ્માખ્મા આ઩ો: ૧) તયર ૨) ગતતકકમ સ્નનગ્ધતા ૩) દફાણ ૪) દાફતળર તયર ૦૮ 

 બ “ય-ુટ્યફુ ભેનોતભટ્ય” લણણલો અને તેનાથી થતો દફાણ ઘટ્ડો ળોધલા ભાટે્ન ુું સતૂ્ર 
તાયલો. 

૦૬ 

    
પ્રશ્ન. ૨ અ યેનોલ્ડનો પ્રમોગ તથા યેનોલ્ડ નુંફય લણણલો. ૦૭ 

 બ તયરોનુું લર્ગિકયણ કયો. ૦૭ 

  અથવા  

 બ “ગ્રેતલકટ્-કડકેંટ્ય” ભાટે્ આંતય઩ટ્રની ઊંચાઇ ભાટે્ન ુું સતૂ્ર તાયલો. ૦૭ 

    
પ્રશ્ન. ૩ અ ફનોરીનુું સતૂ્ર ધાયણઓ સાથે તાયલો. ૦૭ 

 બ અચાનક થતા નર્રકાના તલનતયણને રીધે થતો દફાણ નતુંબ ઘટ્ાડો આકૃતત સહ 
લણણલો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ ફનોરીના સતૂ્ર ભાટે્ જરુયી સધુાયા અચ઱ાુંક લણણલો. ૦૭ 

 બ નલચ્છ આકૃતત સાથે “ગ્રોફ લાલ્લ” લણણલો. ૦૭ 

    
પ્રશ્ન. ૪ અ લેંચયુીતભટ્યનો તસધધાુંત, યચના અને કામણ઩ધધતત લણણલો. ૦૭ 

 બ નલચ્છ આકૃતત સાથે “સેંકિપયગુર ઩ું઩” લણણલો. ૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ ઓકયકપસતભટ્ય લડે કદ પ્રલાહ ભા઩લાનુું સતૂ્ર ભે઱લો. ૦૭ 

 બ નલચ્છ આકૃતત સાથે ર્બન્ન પ્રકાયના ઩ાઇ઩ કપટ્ીંગ તલળે ટુુંકનોંધ રખો. ૦૭ 

    
પ્રશ્ન. ૫ અ લાયચુર્રત હયેપેય તલળે ટુુંકનોંધ રખો. ૦૭ 

 બ ૧.૨ તલતળષ્ટ્ ઘનતાલાળું પ્રલાકહ ૭૫ તભ.તભ. આંતકયક વ્માસલા઱ી નર્રકાભાુંથી 
૧૪૦ સેતભ./ સેકુંડ ના લેગથી ઩સાય થામ છે, તો યેનોલ્ડ નુંફય ળોધો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ ફ્લઈુડાઇઝેળન શુું છે? ફ્લઈુડાઇઝેળનની ઔદ્યોર્ગક ઉ઩મોર્ગતા રખો. ૦૭ 

 બ એક કડપયેં તળમર ય-ુટ્યફુ ભેનોતભટ્ય CCl4 અને ઩ાણી(તલતળષ્ટ્ ઘનતા અનકુ્રભે 
૧.૬ નએ ૧)થી બયેલુું છે. જો ઩ાણીની ઉ઩યનુું પ્રલાકહ કેયોતસન (તલતળષ્ટ્ ઘનતા 
૦.૮) હોમ અને ભેનોતભટ્યનુું લાુંચન ૩ ઇંચ હોમ, તો દફાણભાું ઘટ્ાડો ઩ાણીના 
નતુંબની ઊંચાઈ (ઇંચ)ના એકભભાું ળોધો. 

૦૭ 
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